
MADHYA PRADESH BHOJ (OPEN) UNIVERSITY, BHOPAL 
e/;izns’k Hkkst ¼eqDr½ fo’ofo|ky;] Hkksiky 

BACHELOR OF COMPUTER APPLICATION (BCA) – SECOND YEAR (SESSION 2021-22) 
SUBJECT: COMPUTER ARCHITECTURE 

ASSIGNMENT QUESTION PAPER- FIRST                    MAXIMUM MARKS: 30 

funsZ’k%& 
01- lHkh iz’u Lo;a dh gLrfyfi esa gy djuk vfuok;Z gSA 

02- fo’ofo|ky; }kjk iznk; l=h; mRrjiqfLrdkvksa esa gh l=h; iz’ui= gy djuk vfuok;Z gSA 

03- l=h; dk;Z mRrjiqfLrdk ds izFke i`"B dks lko/kkuhiwoZd iwjk Hkjsa vkSj mlesa mlh fo"k; dk iz’ui= gy djsa tks mRrjiqfLrdk ds izFke 

i`"B ij vafdr fd;k gSA 

04- l=h; dk;Z mRrjiqfLrdk vius v/;;u dsUnz ij tek dj mldh ikorh vo’; izkIr djsaA 

 

नोट:  प्रश्न संख्या 1 से प्रश्न संख्या 5 तक के प्रश्न दीर्घउत्तरीय हैं।प्रते्यक प्रश्न 04 अंक का है। 

Note:  Question No. 1 to Question No. 5 are long answer type questions. Each question carries 04 marks. 
 
Q1.  What is interrupt? Explain and draw the interrupt cycle? 

 व्यवधान क्या है? इंटरप्ट चक्र को समझाएं  और डरा करें? 

Q2 What is shift register? Explain its type 

 शिफ्ट रशिस्टर क्या है? इसके  प्रकार की व्याख्या करें 

Q3. What is instruction? Explain the instruction format? 

 शनदेि क्या है? शनदेि प्रारूप के  बारे में बताएं 

Q4. What is memory? Explain and draw the memory hierarchy?  

 स्मृशत क्या है? मेमोरी पदानुक्रम की व्याख्या करें और डरा करें? 

Q5. What is computer organization? Explain the addressing mode used by processor?   

 कं प्यूटर संगठन क्या है? प्रोसेसर द्वारा उपयोग शकए िाने वाले एडरेशसंग मोड के  बारे में बताएं? 

 

ÑɨÈ:  ŢĤÑ Þɰć×ɟ 6 Þɭ ŢĤÑ Þɰć×ɟ 10 Í¾ ¾ɭ ŢĤÑ ÙÁȓ}ǡØɡ× Ţ¾ɟØ ¾ɭ ßʅ]Ţĕ×ɭ¾ ŢĤÑ 02 yɰ¾ ¾ɟ ßɮ] 
Note:  Questions from Question No. 6 to Question No. 10 are short answer type. Each question carries 02 marks. 

 

Q.6.  What is the role of Read only memory? 

 रीड ओनली मेमोरी की क्या भूशमका है? 

Q.7.    What is microinstruction? 

 सूक्ष्म शनदेि क्या है? 

Q.8     Explain the non-mask able interrupt? 

 गैर-मुखौटा सक्षम व्यवधान की व्याख्या करें? 

Q.9     What is primary memory? 

 प्राइमरी मेमोरी क्या है 

Q.10   What is register addressing mode? 

 रशिस्टर एडरेशसंग मोड क्या ह?ै 
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BACHELOR OF COMPUTER APPLICATION (BCA) – SECOND YEAR (SESSION 2021-22) 
SUBJECT: COMPUTER ARCHITECTURE 

ASSIGNMENT QUESTION PAPER- SECOND                   MAXIMUM MARKS: 30 

funsZ’k%& 
01- lHkh iz’u Lo;a dh gLrfyfi esa gy djuk vfuok;Z gSA 

02- fo’ofo|ky; }kjk iznk; l=h; mRrjiqfLrdkvksa esa gh l=h; iz’ui= gy djuk vfuok;Z gSA 

03- l=h; dk;Z mRrjiqfLrdk ds izFke i`"B dks lko/kkuhiwoZd iwjk Hkjsa vkSj mlesa mlh fo"k; dk iz’ui= gy djsa tks mRrjiqfLrdk ds izFke 

i`"B ij vafdr fd;k gSA 

04- l=h; dk;Z mRrjiqfLrdk vius v/;;u dsUnz ij tek dj mldh ikorh vo’; izkIr djsaA 

 

नोट:  प्रश्न संख्या 1 से प्रश्न संख्या 5 तक के प्रश्न दीर्घउत्तरीय हैं।प्रते्यक प्रश्न 04 अंक का है। 

Note:  Question No. 1 to Question No. 5 are long answer type questions. Each question carries 04 marks. 

 
Q1.  What is K map? Explain and draw K map for XOR gate? 

 व्यवधान क्या है? इंटरप्ट चक्र को समझाएं  और डरा करें? 

Q 2 What is shift register? Explain its type 

   शिफ्ट रशिस्टर क्या है? इसके  प्रकार की व्याख्या करें 

Q.3. What is combinational circuit? Explain and draw the full adder? 

 कॉम्बिनेिन सशकि ट क्या है? पूर्ि योिक की व्याख्या करें और डरा करें? 

Q.4.    What is Multiplexer? Explain and draw the 4to 1 MUX?  

   मल्टीप्लेक्सर क्या है? 4to 1 MUX को समझाएं  और डरा करें? 

Q.5. What is flip-flop? Explain its type? 

      म्बिप-िॉप क्या है? इसके  प्रकार की व्याख्या करें? 

 

ÑɨÈ:  ŢĤÑ Þɰć×ɟ 6 Þɭ ŢĤÑ Þɰć×ɟ 10 Í¾ ¾ɭ ŢĤÑ ÙÁȓ}ǡØɡ× Ţ¾ɟØ ¾ɭ ßʅ]Ţĕ×ɭ¾ ŢĤÑ 02 yɰ¾ ¾ɟ ßɮ] 
Note:  Questions from Question No. 6 to Question No. 10 are short answer type. Each question carries 02 marks. 

 

Q 6. What is assembler? 

   असेंबलर क्या है? 

Q.7.    Describe the universal logic gate?  

  यूशनवसिल लॉशिक गेट का वर्िन करें? 

Q.8     Describe the floating point representation?  

  िोशटंग पॉइंट ररप्रेिेंटेिन का वर्िन करें? 

Q.9     What issecondary memory? 

  सेकें डरी मेमोरी क्या है? 

Q.10   What is indirect addressing mode? 

  अप्रत्यक्ष रशिस्टर एडरेशसंग मोड क्या है? 
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BACHELOR OF COMPUTER APPLICATION (BCA) – SECOND YEAR (SESSION 2021-22) 
SUBJECT: DIGITAL ELECTRONICS 

ASSIGNMENT QUESTION PAPER- FIRST                    MAXIMUM MARKS: 30 

funsZ’k%& 
01- lHkh iz’u Lo;a dh gLrfyfi esa gy djuk vfuok;Z gSA 

02- fo’ofo|ky; }kjk iznk; l=h; mRrjiqfLrdkvksa esa gh l=h; iz’ui= gy djuk vfuok;Z gSA 

03- l=h; dk;Z mRrjiqfLrdk ds izFke i`"B dks lko/kkuhiwoZd iwjk Hkjsa vkSj mlesa mlh fo"k; dk iz’ui= gy djsa tks mRrjiqfLrdk ds izFke 

i`"B ij vafdr fd;k gSA 

04- l=h; dk;Z mRrjiqfLrdk vius v/;;u dsUnz ij tek dj mldh ikorh vo’; izkIr djsaA 

 

नोट:  प्रश्न संख्या 1 से प्रश्न संख्या 5 तक के प्रश्न दीर्घउत्तरीय हैं।प्रते्यक प्रश्न 04 अंक का है। 

Note:  Question No. 1 to Question No. 5 are long answer type questions. Each question carries 04 marks. 
 

Q1.  What is BCD numbers? Write the BCD codes for 1-10 numbers? 

 बीसीडी संख्या क्या है? 1-10 नंबरों के  शलए BCD कोड शलखें? 

Q2 What is shift register? Explain its type 

 शिफ्ट रशिस्टर क्या है? इसके  प्रकार की व्याख्या करें 

Q3. What is Hexadecimal number? Convert the decimal (1203) in to hexadecimal number? 

 हेक्साडेशसमल नंबर क्या है? दिमलव (1203) को हेक्साडेशसमल संख्या में बदलें? 

Q4. What is RAM? Explain and draw the type of RAM?  

 RAM क्या है? RAM के  प्रकार को समझाइए और उसका शचत्र बनाइए? 

Q5. What is logic gate? Explain and draw the universal logic gate? 

 लॉशिक गेट क्या है? यूशनवसिल लॉशिक गेट को समझाइए और उसका शचत्र बनाइए? 

 

ÑɨÈ:  ŢĤÑ Þɰć×ɟ 6 Þɭ ŢĤÑ Þɰć×ɟ 10 Í¾ ¾ɭ ŢĤÑ ÙÁȓ}ǡØɡ× Ţ¾ɟØ ¾ɭ ßʅ]Ţĕ×ɭ¾ ŢĤÑ 02 yɰ¾ ¾ɟ ßɮ] 
Note:  Questions from Question No. 6 to Question No. 10 are short answer type. Each question carries 02 marks. 

 

Q 6.  Draw the truth table and symbol for XOR gate? 

 XOR गेट के शलए ट्रथ टेबल और शसंबल बनाएं? 

Q.7.    What is Read only memory? 

 रीड ओनली मेमोरी की क्या भूशमका है? 

Q.8     Explain the buffer register? 

 बफर रशिस्टर की व्याख्या करें? 

Q.9     Write the DE Morganôs Laws? 

 डीई मॉगिन का शनयम शलम्बखए? 

Q.10   Describe the do not care condition? 

 Dnt care condition की व्याख्या करें? 
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BACHELOR OF COMPUTER APPLICATION (BCA) – SECOND YEAR (SESSION 2021-22) 
SUBJECT: DIGITAL ELECTRONICS 

ASSIGNMENT QUESTION PAPER- SECOND                   MAXIMUM MARKS: 30 

funsZ’k%& 
01- lHkh iz’u Lo;a dh gLrfyfi esa gy djuk vfuok;Z gSA 

02- fo’ofo|ky; }kjk iznk; l=h; mRrjiqfLrdkvksa esa gh l=h; iz’ui= gy djuk vfuok;Z gSA 

03- l=h; dk;Z mRrjiqfLrdk ds izFke i`"B dks lko/kkuhiwoZd iwjk Hkjsa vkSj mlesa mlh fo"k; dk iz’ui= gy djsa tks mRrjiqfLrdk ds izFke 

i`"B ij vafdr fd;k gSA 

04- l=h; dk;Z mRrjiqfLrdk vius v/;;u dsUnz ij tek dj mldh ikorh vo’; izkIr djsaA 

 

नोट:  प्रश्न संख्या 1 से प्रश्न संख्या 5 तक के प्रश्न दीर्घउत्तरीय हैं।प्रते्यक प्रश्न 04 अंक का है। 

Note:  Question No. 1 to Question No. 5 are long answer type questions. Each question carries 04 marks. 
 
Q1.  Draw and explain the three state buffers? 

 थ्री स्टेट बफर बनाइए और समझाइए? 

Q 2 What is control inverter? Explain and draw the inverter? 

 शिफ्ट रशिस्टर क्या है? इसके  प्रकार की व्याख्या करें 

Q 3. What is combinational circuit? Explain and draw the half adder? 

 कॉम्बिनेिन सशकि ट क्या है? पूर्ि योिक की व्याख्या करें और डरा करें? 

Q 4. What is counter? Explain its type? 

 काउंटर क्या है? इसके  प्रकार की व्याख्या करें? 

Q 5. What is K map? Explain and draw K map for NOR gate? 

 K मैप क्या है? NOR गेट के  शलए K नक्शा समझाइए और बनाइए? 

 

ÑɨÈ:  ŢĤÑ Þɰć×ɟ 6 Þɭ ŢĤÑ Þɰć×ɟ 10 Í¾ ¾ɭ ŢĤÑ ÙÁȓ}ǡØɡ× Ţ¾ɟØ ¾ɭ ßʅ]Ţĕ×ɭ¾ ŢĤÑ 02 yɰ¾ ¾ɟ ßɮ] 
Note:  Questions from Question No. 6 to Question No. 10 are short answer type. Each question carries 02 marks. 

 

Q 6.  What is SUBTRACTOR? 

 सबटरैक्टर क्या है? 

Q.7.    Describe the universal logic gate?  

 यूशनवसिल लॉशिक गेट का वर्िन करें? 

Q.8     Describe the Octal number system?  

 ऑक्टल नंबर शसस्टम का वर्िन करें? 

Q.9     What iscachememory? 

 कै ि मेमोरी क्या है? 

Q.10   What is micro processor? 

 माइक्रो प्रोसेसर क्या है? 
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BACHELOR OF COMPUTER APPLICATION (BCA) – SECOND YEAR (SESSION 2021-22) 
SUBJECT: MULTIMEDIA SYSTEMS 

ASSIGNMENT QUESTION PAPER- FIRST                    MAXIMUM MARKS: 30 

funsZ’k%& 
01- lHkh iz’u Lo;a dh gLrfyfi esa gy djuk vfuok;Z gSA 

02- fo’ofo|ky; }kjk iznk; l=h; mRrjiqfLrdkvksa esa gh l=h; iz’ui= gy djuk vfuok;Z gSA 

03- l=h; dk;Z mRrjiqfLrdk ds izFke i`"B dks lko/kkuhiwoZd iwjk Hkjsa vkSj mlesa mlh fo"k; dk iz’ui= gy djsa tks mRrjiqfLrdk ds izFke 

i`"B ij vafdr fd;k gSA 

04- l=h; dk;Z mRrjiqfLrdk vius v/;;u dsUnz ij tek dj mldh ikorh vo’; izkIr djsaA 

 

नोट:  प्रश्न संख्या 1 से प्रश्न संख्या 5 तक के प्रश्न दीर्घउत्तरीय हैं।प्रते्यक प्रश्न 04 अंक का है। 
Note:  Question No. 1 to Question No. 5 are long answer type questions. Each question carries 04 marks. 
 

Ľ.1  zĎk«z«ªm{© aĪ ª¢ªyĄt ì²ªo{Ɗ a¶ Ur©¦|o ¥ª¦p ¥zi©S[Ê 

 Explain various categories of multimedia with example. 

Ľ.2  [zRTm«RT ¥² Rv ñ{© ¥zip² ¦å? Uv{¬Ň Ur©¦|o r²a| ĔvŴ aĪªh[Ê 

 What do you understand by MIDI? Explain with suitable example 

Ľ.3  ªtĊtª~ªbp aĪ đ{©ò{© a|â: 

 (i) ªmªhk~ ]ªm{¶ (ii) Ry©¥« ¢©Ĕpª¢ap© 

 Explain the following: 

 (i) Digital Audio (ii) virtual Reality 

Ľ.4  [ªtz²£t p³{©| a|t² a² ª~[ Uv{¶c ªa[ h©t² ¢©~² ª¢ªyĄt f|oƊ aĪ đ{©ò{© a|âÊ 

 Explain the various steps used for preparing Animation. 

Ľ.5  x©UOª¥Oc x´~ ̀ | |¶ª~Oc x´~ a© Ur©¦|o ¥zi©S[Ê 

 Explain Bouncing Ball and Rolling Ball example. 

 

ÑɨÈ:  ŢĤÑ Þɰć×ɟ 6 Þɭ ŢĤÑ Þɰć×ɟ 10 Í¾ ¾ɭ ŢĤÑ ÙÁȓ}ǡØɡ× Ţ¾ɟØ ¾ɭ ßʅ]Ţĕ×ɭ¾ ŢĤÑ 02 yɰ¾ ¾ɟ ßɮ] 
Note:  Questions from Question No. 6 to Question No. 10 are short answer type. Each question carries 02 marks. 

 

Ľ.6  RT[¥m«[t ̀ | m«[¥[~ a¶ vģ|y©ª¤p aĪªh[Ê 

 Define ISDN and DSL. 

Ľ.7  a²x~ z´m²z ñ{© ¦³? Ur©¦|o ¥ª¦p ĔvŴ aĪªh[Ê 

 What is Cable modem? Explain with example. 

Ľ.8  ]ªĆka~ Ĕk¶|²h ªm¢©S¥ ¥² Rv ñ{© ¥zip² ¦å ? 

 What do you mean by optical storage devices? 

Ľ.9  ªwĎz ¥Ov©raƊ ¥² Rv ñ{© ¥zip² ¦å ? 

 What do you understand by Movie Editors? 

Ľ.10  z³ªaOp¶£ xt©z ª¢Om¶h aĪ p¬~t© a|âÊ 

 Compare Macintosh Versus Windows. 
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ASSIGNMENT QUESTION PAPER- SECOND                   MAXIMUM MARKS: 30 

funsZ’k%& 
01- lHkh iz’u Lo;a dh gLrfyfi esa gy djuk vfuok;Z gSA 

02- fo’ofo|ky; }kjk iznk; l=h; mRrjiqfLrdkvksa esa gh l=h; iz’ui= gy djuk vfuok;Z gSA 

03- l=h; dk;Z mRrjiqfLrdk ds izFke i`"B dks lko/kkuhiwoZd iwjk Hkjsa vkSj mlesa mlh fo"k; dk iz’ui= gy djsa tks mRrjiqfLrdk ds izFke 

i`"B ij vafdr fd;k gSA 

04- l=h; dk;Z mRrjiqfLrdk vius v/;;u dsUnz ij tek dj mldh ikorh vo’; izkIr djsaA 

 

नोट:  प्रश्न संख्या 1 से प्रश्न संख्या 5 तक के प्रश्न दीर्घउत्तरीय हैं।प्रते्यक प्रश्न 04 अंक का है। 

Note:  Question No. 1 to Question No. 5 are long answer type questions. Each question carries 04 marks. 

 

Ľ.1  ¥«m« |´z ̀ | m«¢«m« |´z aĪ p¬~t© r¶tƊ a² w©{r² ̀ | t¬a¥©t ¥² a|âÊ 

 Compare CD ROM and DVD ROM with advantages and disadvantages of both. 

Ľ.2  [tk«[¥¥« ¥² Rv ñ{© ¥zip² ¦å ? {¦ v©~ ¥² ªa¥ Ľa©| ªyĄt ¦³Ê 

 What do you understand by NTSC? How it is different from PAL. 

Ľ.3  ªtĊtª~ªbp aĪ đ{©ò{© a|â: 

 (i) SECAM (ii) A TSC DTV 

 Explain the following: 

 (i) SECAM (ii) A TSC DTV 

Ľ.4  _¥«R| ¥´ćk¢²{| aĪ a©{è ĽªĶ{© aĪ đ{©ò{© a|â 

 Explain the working procedure of OCR software. 

Ľ.5  ª¢Om¶Á ̀ | z³ªaĄk¶£ a² ª~[ ªñ¢a k©Sz ¥² Rv ñ{© ¥zip² ¦å? 

 What do you mean by QuickTime for windows and Macintosh? 

 

ÑɨÈ:  ŢĤÑ Þɰć×ɟ 6 Þɭ ŢĤÑ Þɰć×ɟ 10 Í¾ ¾ɭ ŢĤÑ ÙÁȓ}ǡØɡ× Ţ¾ɟØ ¾ɭ ßʅ]Ţĕ×ɭ¾ ŢĤÑ 02 yɰ¾ ¾ɟ ßɮ] 
Note:  Questions from Question No. 6 to Question No. 10 are short answer type. Each question carries 02 marks. 

 

Ľ.6  [k«[ ̀ | QĎƭ©-[k«[ a¶ vģ|y©ª¤p a|âÊ 

 Define ATA and Ultra-ATA. 

Ľ.7  a²x~ z´m²z ñ{© ¦³? Ur©¦|o ¥ª¦p ĔvŴ aĪªh[Ê 

 What is Cable modem? Explain with example. 

Ľ.8  kfĔĶĪt aĪ a©{èĽo©~« a¶ ¥zi©S[Ê 

 Explain the working of Touchscreen. 

Ľ.9  ĸ©ªwñ¥ k³x~²k ¥² Rv ñ{© ¥zip² ¦å? 

 What do you understand by Graphics Tablets? 

Ľ.10  k²ñĔk [ªmªkOc ̀ | ¢mè Ľ¶¥²ª¥Oc k­Ď¥ ¥² Rv ñ{© ¥zip² ¦å? 

 What do you understand by Text Editing and word processing tools? 
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02- fo’ofo|ky; }kjk iznk; l=h; mRrjiqfLrdkvksa esa gh l=h; iz’ui= gy djuk vfuok;Z gSA 

03- l=h; dk;Z mRrjiqfLrdk ds izFke i`"B dks lko/kkuhiwoZd iwjk Hkjsa vkSj mlesa mlh fo"k; dk iz’ui= gy djsa tks mRrjiqfLrdk ds izFke 

i`"B ij vafdr fd;k gSA 

04- l=h; dk;Z mRrjiqfLrdk vius v/;;u dsUnz ij tek dj mldh ikorh vo’; izkIr djsaA 

 

नोट:  प्रश्न संख्या 1 से प्रश्न संख्या 5 तक के प्रश्न दीर्घउत्तरीय हैं।प्रते्यक प्रश्न 04 अंक का है। 

Note:  Question No. 1 to Question No. 5 are long answer type questions. Each question carries 04 marks. 
 

Ľ.1  at²ñ£t-UĄz¬b ̀ | at²ñ£t| ª¦p ¥²¢©_O ¥² Rva© ñ{© p©Āv{è ¦³? 

 What do you mean by Connection- Oriented and Connectionless Services? 

Ľ.2   MAN ¥² Rv ñ{© ¥zip² ¦å? {¦ WAN ¥² ªa¥ Ľa©| ªyĄt ¦³? 

 What do you understand byMAN? How it is different from WAN? 

Ľ.3  ªtĊtª~ªbp aĪ đ{©ò{© a|â: 

 (i) X.25(ii) ATM 

 Explain the following: 

 (i) X.25 (ii) ATM 

Ľ.4  k«¥«v«/RTv« ¥Oryè z´m~ a² a©{è aĪ đ{©ò{© a|âÊ 

 Explain the working of TCP/IP Reference Model. 

Ľ.5  R|[¥[ [Ďc¶ģ|qz ¥² Rv ñ{© ¥zip² ¦å? S¥a© a©{è ª¥Ť©Op ĔvŴ aĪªh[Ê 

 What do you mean by RSA Algorithm? Explain the working principle of this. 

 

ÑɨÈ:  ŢĤÑ Þɰć×ɟ 6 Þɭ ŢĤÑ Þɰć×ɟ 10 Í¾ ¾ɭ ŢĤÑ ÙÁȓ}ǡØɡ× Ţ¾ɟØ ¾ɭ ßʅ]Ţĕ×ɭ¾ ŢĤÑ 02 yɰ¾ ¾ɟ ßɮ] 
Note:  Questions from Question No. 6 to Question No. 10 are short answer type. Each question carries 02 marks. 

 

Ľ.6  z¶x©S~ RTv« a¶ vģ|y©ª¤p a|âÊ 

 Define mobile IP. 

Ľ.7  SOk|t²k zĎk«a©ªĔkOc ñ{© ¦³? Ur©¦|o ¥ª¦p ĔvŴ aĪªh[Ê 

 What is Internet Multicasting? Explain with example. 

Ľ.8  GEO ̀ | MEO Uvĸ¦Ɗ aĪ p¬~t© a|âÊ 

 Compare GEO and MEO satellites 

Ľ.9  xqèm² Qk³a ¥² Rv ñ{© ¥zip² ¦å ? 

 What do you understand by The Birthday attack? 

Ľ.10  ªmªhk~ ª¥ót²f| a¶ Ur©¦|o ¥ª¦p vģ|y©ª¤p aĪªh[Ê 

 Define Digital Signatures with example. 
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BACHELOR OF COMPUTER APPLICATION (BCA) – SECOND YEAR (SESSION 2021-22) 
SUBJECT: COMPUTER NETWORKING 

ASSIGNMENT QUESTION PAPER- SECOND                   MAXIMUM MARKS: 30 

funsZ’k%& 
01- lHkh iz’u Lo;a dh gLrfyfi esa gy djuk vfuok;Z gSA 

02- fo’ofo|ky; }kjk iznk; l=h; mRrjiqfLrdkvksa esa gh l=h; iz’ui= gy djuk vfuok;Z gSA 

03- l=h; dk;Z mRrjiqfLrdk ds izFke i`"B dks lko/kkuhiwoZd iwjk Hkjsa vkSj mlesa mlh fo"k; dk iz’ui= gy djsa tks mRrjiqfLrdk ds izFke 

i`"B ij vafdr fd;k gSA 

04- l=h; dk;Z mRrjiqfLrdk vius v/;;u dsUnz ij tek dj mldh ikorh vo’; izkIr djsaA 

 

नोट:  प्रश्न संख्या 1 से प्रश्न संख्या 5 तक के प्रश्न दीर्घउत्तरीय हैं।प्रते्यक प्रश्न 04 अंक का है। 

Note:  Question No. 1 to Question No. 5 are long answer type questions. Each question carries 04 marks. 

 

Ľ.1  Ľ¶k¶a´~ vr©t¬Ķz ¥² Rv ñ{© ¥zip² ¦å ? v|pƊ a² ª~[ ªmÁ©St a² z¬ţƊ aĪ đ{©ò{© a|âÊ 

 What do you mean by protocol Hierarchies? Explain the design issues for the layers. 

Ľ.2  ¢³t ¥² Rv ñ{© ¥zip² ¦å ? S¥aĪ a©{è ª¢ªs ¥zi©S[Ê 

 What do you understand byWAN? Explain the working procedure of it. 

Ľ.3  ªtĊtª~ªbp aĪ đ{©ò{© a|â: 

 (i) Frame Relay (ii) Ethernet 

 Explain the following: 

 (i) Frame Relay  (ii) Ethernet 

Ľ.4  k«¥«v«/RTv« ¥Oryè z´m~ a² a©{è aĪ đ{©ò{© a|âÊ 

 Explain the working of TCP/IP Reference Model. 

Ľ.5  DES [Ďc¶ģ|qz ¥² Rv ñ{© ¥zip² ¦å? {¦ AES ¥² ªa¥ Ľa©| ªyĄt ¦³? 

  What do you mean by DES Algorithm? How it is different from AES? 

 

ÑɨÈ:  ŢĤÑ Þɰć×ɟ 6 Þɭ ŢĤÑ Þɰć×ɟ 10 Í¾ ¾ɭ ŢĤÑ ÙÁȓ}ǡØɡ× Ţ¾ɟØ ¾ɭ ßʅ]Ţĕ×ɭ¾ ŢĤÑ 02 yɰ¾ ¾ɟ ßɮ] 
Note:  Questions from Question No. 6 to Question No. 10 are short answer type. Each question carries 02 marks. 

 

Ľ.6  _[¥v«[w ¥² Rv ñ{© ¥zip² ¦å ? 

 What do you mean by OSPF? 

Ľ.7  IPv6 ñ{© ¦³? {¦ IPv4 ¥² a³¥² ªyĄt ¦³? 

 What is IPv6? How it is different from IPv4? 

Ľ.8  LEO ̀ | GEO Uvĸ¦Ɗ aĪ p¬~t© a|âÊ 

 Compare LEO and GEO satellites 

Ľ.9  ªĶĆk³t©ª~ª¥¥ ¥² Rv ñ{© ¥zip² ¦å ? 

 What do you understand by Cryptanalysis? 

Ľ.10  z²¥²h m©Sh²Ĕk ¥² Rv ñ{© ¥zip² ¦å? ¥zi©_Ê 

 What do you mean by Message Digest? Explain. 
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नोट:  प्रश्न संख्या 1 से प्रश्न संख्या 5 तक के प्रश्न दीर्घउत्तरीय हैं।प्रते्यक प्रश्न 04 अंक का है। 

Note:  Question No. 1 to Question No. 5 are long answer type questions. Each question carries 04 marks. 

 

Ţ.1  ÞÖȕß ÞɰÃɟØ ¾ɥ Ţ¾ȗȑÍ ©Ø θÛÜɭÝÍɟ̈ ɰ ÒØ ¤¾ ÑɨÈ εÙ¿ʃ] 
       Write a note on nature and characteristics of group communication? 

Ţ.2  ¤¾ zÏɭÜ Ć×ɟ ßɮ, zÏɭÜʇ ¾ɭ Ţ¾ɟØ ĦÒĥÈ ¾ɥȒÅ¤] 

         What is an order? Explain the type of orders. 

Ţ.3     ÞɰÃɟØ ¾ɭ θÛεÕęÑ ÖɟĘ×Öʇ ¾ɥ ģ×ɟć×ɟ ¾ɥȒÅ¤] 

         Explain the different channels of communication. 

Ţ.4  ÖɠιÊ×ɟ ¾ɭ Ã×Ñ ©Ø }Ò×ɨÀ ¾ɥ ŢηŎ×ɟ ¾ɥ ģ×ɟć×ɟ ¾Øʃ] 

         Explain the process of selection and usage of media. 

Ţ.5      ©ÒÃɟȎØ¾ ©Ø yÑɩÒÃɟȎØ¾ ÞεÖȑÍ×ʇ ¾ɭ ÔɠÃ ÕɭÏ] 

          Distinguish between formal and informal committees. 
 

ÑɨÈ:  ŢĤÑ Þɰć×ɟ 6 Þɭ ŢĤÑ Þɰć×ɟ 10 Í¾ ¾ɭ ŢĤÑ ÙÁȓ}ǡØɡ× Ţ¾ɟØ ¾ɭ ßʅ]Ţĕ×ɭ¾ ŢĤÑ 02 yɰ¾ ¾ɟ ßɮ] 
Note:  Questions from Question No. 6 to Question No. 10 are short answer type. Each question carries 02 marks. 
 

Ţ.6  ÖɠιÊ×ɟ Þɭ zÒ Ć×ɟ ÞÖÆÍɭ ßʅ 

         What do you mean by media? 

Ţ.7  ÞɰÃɟØ ÃɮÑÙ Ć×ɟ ßʅ] 

       What are communication channels? 

Ţ.8  Êɟ}ÑÛÊx ¾Ğ×ȓȑÑ¾ɭÜÑ Ć×ɟ ßɮ] 
       What is downward communication? 

Ţ.9   ÞɰÃɟØ ¾ɭ ÖßĕÛ ¾ɨ ĦÒĥÈ ¾ɥȒÅ¤] 

      Explain the importance of communication. 
Ţ.10  ÜĜÏɟÎx ÔɟÐɟ¤ɰ Ć×ɟ ßʅ] 

         What are semantic barriers? 
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नोट:  प्रश्न संख्या 1 से प्रश्न संख्या 5 तक के प्रश्न दीर्घउत्तरीय हैं।प्रते्यक प्रश्न 04 अंक का है। 

Note:  Question No. 1 to Question No. 5 are long answer type questions. Each question carries 04 marks. 
 
Ţ.1  ÔɟßØɡ ©Ø zɰÍȎØ¾ ÞɰÃɟØ ÑɭÈÛ¾x ¾ɥ ģ×ɟć×ɟ ¾Øʃ] 

        Explain the external and internal communication network. 

Ţ.2 ÞɰÃɟØ ¾ɭ θÛεÕęÑ Ţ¾ɟØʇ ¾ɥ ģ×ɟć×ɟ ¾ɥȒÅ¤] 
         Explain different types of communication. 

Ţ.3     ÞɰÃɟØ ¾ɭ θÛεÕęÑ yÛØɨÐʇ ¾ɥ ģ×ɟć×ɟ ¾ɥȒÅ¤] 

          Explain the different barriers of communication. 

Ţ.4  θÛεÕęÑ Ţ¾ɟØ ¾ɥ ÞεÖȑÍ×ʇ ¾ɥ ģ×ɟć×ɟ ¾ɥȒÅ¤] 

         Explain different types of committees. 

Ţ.5     ģ×ɟÛÞɟȑ×¾ ÞɰÃɟØ Öʃ ŢÕɟÛɠ ŬÛÌ ¾ɭ ÖßĕÛ ¾ɨ ĦÒĥÈ ¾ɥȒÅ¤] 

         Explain the significance of effective listening in business communication. 
 

ÑɨÈ:  ŢĤÑ Þɰć×ɟ 6 Þɭ ŢĤÑ Þɰć×ɟ 10 Í¾ ¾ɭ ŢĤÑ ÙÁȓ}ǡØɡ× Ţ¾ɟØ ¾ɭ ßʅ]Ţĕ×ɭ¾ ŢĤÑ 02 yɰ¾ ¾ɟ ßɮ] 
Note:  Questions from Question No. 6 to Question No. 10 are short answer type. Each question carries 02 marks. 
 

Ţ.6  ģ×ɟÛÞɟȑ×¾ ÞɰÀÉÑ Öʃ ÞɰÃɟØ ¾ɟ Ć×ɟ ÖßĕÛ ßɮ 

        What is the significance of communication in business organization? 

Ţ.7  yεÕŢɭØÌɟ ¾ɟ yÎx ©Ø ÖßĕÛ εÙζ¿¤] 

        Write down the meaning and importance of motivation. 

Ţ.8  Öɩζ¿¾ ÖɠιÊ×ɟ Ć×ɟ ßɮ] 

        What is oral media? 

Ţ.9   ßɭÙɨ ŢÕɟÛ Þɭ zÒ Ć×ɟ ÞÖÆÍɭ ßʅ ] 

        What do you mean by Halo effect? 

Ţ.10  ÐɟØÌɟ Ć×ɟ ßɮ 

        What is perception? 
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Ţ.1  Network , hierarchical  and relational ÖɦÊÙ ¾ɭ ÔɠÃ yɰÍØ ¾Øʃ] 
     Differentiate between Network, Hierarchical and relational models.  
Ţ.2  }Ò×ȓĆÍ }ÏɟßØÌ ¾ɭ ÞɟÎ ÊɠÔɠ¤Ö¤Þ Öʃ |zØ ÖɦÊÙ ŢÏεÜxÍ ¾Øʃ] 

       Demonstrate ER model in DBMS with suitable example. 

Ţ.3  ȑÑĞÑεÙζ¿Í ¾ɨ ÒȎØÕɟθÝÍ ¾ɥȒÅ×ɭ 
a) Natural Join b) Inner Join c) z}ÈØ Åɦ{Ñ, DBMS Öʃ ©Ø SQL Öʃ ĆÛɭØɡ εÙ¿ʃ] 

      Define the following:- 
a) Natural Join b) Inner Join c) Outer Joins ,in DBMS and write the query in SQL 

Ţ.4  3rd ©Ø BCNF Öʃ Ć×ɟ yɰÍØ ßɮ] 

        Difference between 3rd and BCNF. 

Ţ.5  ¾ÖxÃɟØɡ ÑɟÖ ¾ɥ ÍɟεÙ¾ɟ ÒØ θÛÃɟØ ¾Øʃ ©Ø {Þ ÍɟεÙ¾ɟ ¾ɟ }Ò×ɨÀ ¾Ø¾ɭ θÛεÕęÑ SQL Query εÙ¿ʃ 
ŢĤÑ 1 : }Þ ¾ÖxÃɟØɡ ¾ɥ ÞȕÃɠ ÔÑɟ¤ɰ ȒÅÞ¾ɥ ¾ÖxÃɟØɡ Þɰć×ɟ 100 ßɮ] 
ŢĤÑ 2 : }Ñ ¾ÖxÃɟȎØ×ʇ ¾ɥ ÞȕÃɠ ÔÑɟ¤ɰ ȒÅÑ¾ɟ ÑɟÖ 'yÖɠ' Þɭ Üȓȼ ßɨÍɟ ßɮ] 
ŢĤÑ 3: ¾ÖxÃɟØɡ ÍɟεÙ¾ɟ Þɭ ÒßÙɟ ȎØ¾ɦÊx ŢɟĚÍ ¾ØÑɭ ¾ɭ εÙ¤ ĆÛɭØɡ Ć×ɟ ßɮ? 
ŢĤÑ 4: ¾ÖxÃɟØɡ ÍɟεÙ¾ɟ Þɭ yκÐ¾ÍÖ ÛɭÍÑ ©Ø ę×ȕÑÍÖ ÛɭÍÑ ¾ɨ ¤¾ ÞɟÎ ¾ɮÞɭ ŢÏεÜxÍ ¾Øʃ? 
(ÖɟÑ Ùʃ η¾ ¾ÖxÃɟØɡ ÍɟεÙ¾ɟ Öʃ ŢÔɰÐ¾ z|Êɠ Õɠ ßɮ) 

        Let us consider table named Employee and with using this table write different SQL Queries 
Query 1 : List the employee whose employee number is 100. 
vǳŜǊȅ н Υ [ƛǎǘ ǘƘŜ 9ƳǇƭƻȅŜŜǎ ǿƘƻǎŜ ƴŀƳŜ ǎǘŀǊǘǎ ǿƛǘƘ Ψ!ƳƛΩΦ 
Query 3 : What is the query to fetch the first record from the Employee table? 
Query 4 : How to Show the Max salary and min salary together from Employees table? 
(Consider there is manager id also in Employee table) 

 

ÑɨÈ:  ŢĤÑ Þɰć×ɟ 6 Þɭ ŢĤÑ Þɰć×ɟ 10 Í¾ ¾ɭ ŢĤÑ ÙÁȓ}ǡØɡ× Ţ¾ɟØ ¾ɭ ßʅ]Ţĕ×ɭ¾ ŢĤÑ 02 yɰ¾ ¾ɟ ßɮ] 
Note:  Questions from Question No. 6 to Question No. 10 are short answer type. Each question carries 02 marks. 

 
Ţ.6  Ħ¾ɥÖɟ Þɭ zÒ Ć×ɟ ÞÖÆÍɭ ßʅ ? 

       What do you mean by schemas? 

Ţ.7  Strong Entity ©Ø Weak Entity ÞɭÈ ¾ɭ ÔɠÃ yɰÍØ ¾Øʃ] 

       Distinguish between Strong Entity and Weak Entity sets. 

Ţ.8  Relation ¾ɥ θÛεÕęÑ θÛÜɭÝÍɟ¤ɰ Ć×ɟ ßʅ] 

        What are the Different features of relation? 

Ţ.9   Dependency Preservation ¾ɨ ÒȎØÕɟθÝÍ ¾ɥȒÅ¤] 
         Define dependency preservation. 

Ţ.10  ÊɠÊɠ¤Ù, Êɠ¤Ö¤Ù ©Ø ÊɠÞɠ¤Ù ¾ɨ }ÏɟßØÌ ÞȏßÍ ÞÖÆɟ{¤] 

        Explain DDL, DML, and DCL with examples. 
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नोट:  प्रश्न संख्या 1 से प्रश्न संख्या 5 तक के प्रश्न दीर्घउत्तरीय हैं।प्रते्यक प्रश्न 04 अंक का है। 

Note:  Question No. 1 to Question No. 5 are long answer type questions. Each question carries 04 marks. 

 
Ţ.1  ÊɠÔɠ¤Ö¤Þ ¾ɭ ÙɟÕʇ ¾ɥ ÞȕÃɠ ÔÑɟ¤ɰ? 
     List the advantages of DBMS? 

Ţ.2  Relational algebra Öʃ ÞɭÙɭĆÈ ¦ÒØɭÜÑ ¾ɭ ÔɟØɭ Öʃ ÔÍɟ¤ɰ? 
     State about SELECT operation in Relational  algebra?.  
Ţ.3  functional dependency ¾ɨ ÒȎØÕɟθÝÍ ¾Øʃ? ¾ȓÄ functional dependency ÍȓċÄ Ć×ʇ ßʅ? 
     Define functional dependency? Why are some functional dependencies trivial?  
Ţ.4  |zØ-ÖɦÊÙ ¾ɥ yȑÍȎØĆÍ θÛÜɭÝÍɟ¨ɰ ÒØ ÃÃɟx ¾Øʃ] 
     Discuss additional features of the ER -Models.  
Ţ.5  weak {¾ɟ| ÞɭÈ ¾ɭ ÞɟÎ strong {¾ɟ| ÞɭÈ Öʃ yɰÍØ ¾Øʃ? 
     Distinguish strong entity set with weak entity set?  
 
ÑɨÈ:  ŢĤÑ Þɰć×ɟ 6 Þɭ ŢĤÑ Þɰć×ɟ 10 Í¾ ¾ɭ ŢĤÑ ÙÁȓ}ǡØɡ× Ţ¾ɟØ ¾ɭ ßʅ]Ţĕ×ɭ¾ ŢĤÑ 02 yɰ¾ ¾ɟ ßɮ] 

Note:  Questions from Question No. 6 to Question No. 10 are short answer type. Each question carries 02 marks. 
 
Ţ.6   ÊɭÈɟ ÒȎØÕɟÝɟ ÕɟÝɟ ¾ɭ ÔɟØɭ Öʃ ÃÃɟx ¾Øʃ? 
     Discuss about Data Definition language?  
Ţ.7  SQL ĆÛɭØɡ ¾ɭ ÖȕÙ ȼÒ ÒØ ÃÃɟx ¾Øʃ? 
     Discuss the basic form of SQL query?  
Ţ.8  ÏȕÞØɟ ÞɟÖɟę× ȼÒ ÒȎØÕɟθÝÍ ¾Øʃ 
     Define Second Normal Form  
Ţ.9  ÒȎØÕɟθÝÍ ¾Øʃ (i) {¾ɟ| (ii) θÛÜɭÝÍɟ 
     Define (i) Entity (ii) Attribute  
Ţ.10 ÊɭÈɟÔɭÞ yÑȓŢ×ɨÀʇ ¾ɥ ÞȕÃɠ ÔÑɟ¤ɰ? 
     List the database Applications?  
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प्र.1  Ĕk³a ̀ | U¥a² ¥Of©~t a¶ Ur©¦|o ¥ª¦p ¥zi©S[Ê 

 Explain the stack and its operations with example. 

प्र.2  Ľ«z²ªĆk¢ m²k© Ľa©| ̀ | Uv{¶cap©è vģ|y©ª¤p m²k© Ľa©| ¥² Rva© ñ{© p©Āv{è ¦³? Uv{¬Ň Ur©¦|o  r²a| ĔvŴ aĪªh[Ê 

 What do you means by preemptive data types and user defined data types? Explain with suitable example. 

प्र.3  x©St|« ƭ« ̀ | U¥a² Qt¬Ľ{¶cƊ aĪ đ{©ò{© a|âÊ  

 Explain the binary tree and its applications. 

प्र.4  Ā¢ģ|p ¥́kè [Ďc¶ģ|āz ̀ | S¥aĪ rïp© aĪ đ{©ò{© a|âÊ 

 Explain the quick sort algorithm and its efficiency. 

प्र.5  Uv{¬Ň Ur©¦|o a© Uv{¶c a|a² ~d¬pz vq [Ďc¶ģ|qz aĪ đ{©ò{© a|â 
 Explain shortest path algorithm by using suitable example. 

 
ÑɨÈ:  ŢĤÑ Þɰć×ɟ 6 Þɭ ŢĤÑ Þɰć×ɟ 10 Í¾ ¾ɭ ŢĤÑ ÙÁȓ}ǡØɡ× Ţ¾ɟØ ¾ɭ ßʅ]Ţĕ×ɭ¾ ŢĤÑ 02 yɰ¾ ¾ɟ ßɮ] 

Note:  Questions from Question No. 6 to Question No. 10 are short answer type. Each question carries 02 marks. 

 
Ľ.6  x©St|« ª¥Ĕkz a¶ vģ|y©ª¤p a|âÊ 

 Define binary system. 

Ľ.7  k¶at ñ{© ¦³? k¶at a² r¶ Ur©¦|o r«ªh[Ê 

 What is Token? Give two examples of token. 

Ľ.8  ƭ« ƭ³¢¥è~ ¥² Rv ñ{© ¥zip² ¦å ? 

 What do you mean by tree traversal? 

Ľ.9  ĸ©w zâ m²Ćq wĔkè ƭ³¢¥è~ ¥² Rv ñ{© ¥zip² ¦å? 

 What do you means by depth first traversal in graph? 

Ľ.10  ¦«v ¥´kè [Ďc¶ģ|qz a² x©|² zâ xp©[O? 

 Explain heap sort algorithm? 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



MADHYA PRADESH BHOJ (OPEN) UNIVERSITY, BHOPAL 
e/;izns’k Hkkst ¼eqDr½ fo’ofo|ky;] Hkksiky 

BACHELOR OF COMPUTER APPLICATION (BCA) – SECOND YEAR (SESSION 2021-22) 
SUBJECT: DATA STRUCTURE THROUGH C LANGUAGE 

ASSIGNMENT QUESTION PAPER- SECOND                   MAXIMUM MARKS: 30 

funsZ’k%& 
01- lHkh iz’u Lo;a dh gLrfyfi esa gy djuk vfuok;Z gSA 

02- fo’ofo|ky; }kjk iznk; l=h; mRrjiqfLrdkvksa esa gh l=h; iz’ui= gy djuk vfuok;Z gSA 

03- l=h; dk;Z mRrjiqfLrdk ds izFke i`"B dks lko/kkuhiwoZd iwjk Hkjsa vkSj mlesa mlh fo"k; dk iz’ui= gy djsa tks mRrjiqfLrdk ds izFke 

i`"B ij vafdr fd;k gSA 

04- l=h; dk;Z mRrjiqfLrdk vius v/;;u dsUnz ij tek dj mldh ikorh vo’; izkIr djsaA 

 

नोट:  प्रश्न संख्या 1 से प्रश्न संख्या 5 तक के प्रश्न दीर्घउत्तरीय हैं।प्रते्यक प्रश्न 04 अंक का है। 

Note:  Question No. 1 to Question No. 5 are long answer type questions. Each question carries 04 marks. 

 
Ľ.1  ap©| ̀ | U¥a² ¥Of©~t a¶ Ur©¦|o ¥ª¦p ¥zi©S[Ê 

 Explain the queue and its operations with example. 

Ľ.2  ¥a¬è~| ¥­f« a² ƀv zâ ap©| ¥² Rv ñ{© ¥zip² ¦å? 

 What do you mean by queue as a circular list. 

Ľ.3  x©St|« ¥fè ƭ« ̀ | U¥a² Qt¬Ľ{¶cƊ aĪ đ{©ò{© a|âÊ  

 Explain the binary search tree and its applications. 

Ľ.4  zhè ¥´kè [Ďc¶ģ|qz ̀ | S¥aĪ rïp© aĪ đ{©ò{© a|âÊ 

 Explain the merge sort algorithm and its efficiency. 

Ľ.5  Uv{¬Ň Ur©¦|o aĪ ¥¦©{p© ¥² Ą{­tpz Ĕv°ªtOc ƭ« a¶ ¥zi©S[Ê 

 Explain minimum spanning tree by using suitable example. 

 

ÑɨÈ:  ŢĤÑ Þɰć×ɟ 6 Þɭ ŢĤÑ Þɰć×ɟ 10 Í¾ ¾ɭ ŢĤÑ ÙÁȓ}ǡØɡ× Ţ¾ɟØ ¾ɭ ßʅ]Ţĕ×ɭ¾ ŢĤÑ 02 yɰ¾ ¾ɟ ßɮ] 
Note:  Questions from Question No. 6 to Question No. 10 are short answer type. Each question carries 02 marks. 

 

Ľ.6  ªtĊtª~ªbp ¥Oò{© a¶ x©St|« ¥Oò{© zâ xr~âÊ 

I. 23   II. 19 

 Convert following number into binary number. 

i. 23   ii. 19  

Ľ.7  R|ªïp aĪ¢mè ñ{© ¦³? 

 What is reserved keyword? 

Ľ.8  Ľ«-]mè| ̀ | v¶Ĕk ]mè| ƭ³¢¥è~ ¥² Rv ñ{© ¥zip² ¦å? 

 What do you mean by pre order and post order traversal? 

Ľ.9 ĸ©w zâ Ŀ²m̧q wĔkè ƭ³¢¥è~ ¥² Rv ñ{© ¥zip² ¦å? 

 What do you mean by breadth first traversal in graph? 

Ľ.10 xx~ ¥´kè [Ďc¶ģ|qz ¥zi©[O? 

 Explain bubble sort algorithm? 

 

 

 

 

 

 

 

 

 

 

 

 



MADHYA PRADESH BHOJ (OPEN) UNIVERSITY, BHOPAL 
e/;izns’k Hkkst ¼eqDr½ fo’ofo|ky;] Hkksiky 

BACHELOR OF COMPUTER APPLICATION (BCA) – SECOND YEAR (SESSION 2021-22) 
SUBJECT: SYSTEM ANALYSIS & DESIGN 

ASSIGNMENT QUESTION PAPER- FIRST                    MAXIMUM MARKS: 30 

funsZ’k%& 
01- lHkh iz’u Lo;a dh gLrfyfi esa gy djuk vfuok;Z gSA 

02- fo’ofo|ky; }kjk iznk; l=h; mRrjiqfLrdkvksa esa gh l=h; iz’ui= gy djuk vfuok;Z gSA 

03- l=h; dk;Z mRrjiqfLrdk ds izFke i`"B dks lko/kkuhiwoZd iwjk Hkjsa vkSj mlesa mlh fo"k; dk iz’ui= gy djsa tks mRrjiqfLrdk ds izFke 

i`"B ij vafdr fd;k gSA 

04- l=h; dk;Z mRrjiqfLrdk vius v/;;u dsUnz ij tek dj mldh ikorh vo’; izkIr djsaA 

 

नोट:  प्रश्न संख्या 1 से प्रश्न संख्या 5 तक के प्रश्न दीर्घउत्तरीय हैं।प्रते्यक प्रश्न 04 अंक का है। 

Note:  Question No. 1 to Question No. 5 are long answer type questions. Each question carries 04 marks. 
 

Ľ.1  ª¥Ĕkz ª¢Ų²¤o ̀ | ªmh©St a¶ Ur©¦|o ¥ª¦p ¥zi©S[Ê 

 Explain the system analysis and design with example. 

Ľ.2  pā{ b¶ht² aĪ pat«a ¥² Rva© ñ{© p©Āv{è ¦³Ê Uv{¬Ň Ur©¦|o Ū©|© ĔvŴ aĪªh[Ê 

 What do you mean by fact finding techniques. Explain by suitable example.  

Ľ.3  z¬ªļp RUkv¬k a² ª~[ ªr£©ªtrã£ ª~bâÊ 

 Write the guidelines for printed output. 

Ľ.4  źm̧{­~ ñ{© ¦³? źm̧{­~ a² k´v m©Ut Ĕƭñf| a¶ ¥zi©S[Ê 

 What is module? Explain top down structure of module. 

Ľ.5  h¶ªbz ª¢Ų²¤o ñ{© ¦³Ê S¥² a|t² aĪ ª¢ªs{Ɗ aĪ đ{©ò{© aĪªh[Ê 

 What is risk analysis? Explain the methods to perform it. 

 

ÑɨÈ:  ŢĤÑ Þɰć×ɟ 6 Þɭ ŢĤÑ Þɰć×ɟ 10 Í¾ ¾ɭ ŢĤÑ ÙÁȓ}ǡØɡ× Ţ¾ɟØ ¾ɭ ßʅ]Ţĕ×ɭ¾ ŢĤÑ 02 yɰ¾ ¾ɟ ßɮ] 
Note:  Questions from Question No. 6 to Question No. 10 are short answer type. Each question carries 02 marks. 

 

Ľ.6  ¢©k| w´~ z´m~ a¶ vģ|y©ª¤p aĪªh[Ê 

 Define water fall model. 

Ľ.7  đ{¢¦©{èp© ñ{© ¦³? 

 What is feasibility? 

Ľ.8  Stv¬k ¥Ā{©vt ¥² Rv ñ{© ¥zip² ¦å ? 

 What do you mean by input validation? 

Ľ.9  c¬o¢î© Rų©¥t ¥² Rv ñ{© ¥zip² ¦å ? 

 What do you mean by quality assurance? 

Ľ.10  ª¥Ĕkz ]ªmk a© ñ{© Qqè ¦³? 

 What is the meaning of system audit? 

 

 

 

 

 

 

 

 

 

 



MADHYA PRADESH BHOJ (OPEN) UNIVERSITY, BHOPAL 
e/;izns’k Hkkst ¼eqDr½ fo’ofo|ky;] Hkksiky 

BACHELOR OF COMPUTER APPLICATION (BCA) – SECOND YEAR (SESSION 2021-22) 
SUBJECT: SYSTEM ANALYSIS & DESIGN 

ASSIGNMENT QUESTION PAPER- SECOND                   MAXIMUM MARKS: 30 

funsZ’k%& 
01- lHkh iz’u Lo;a dh gLrfyfi esa gy djuk vfuok;Z gSA 

02- fo’ofo|ky; }kjk iznk; l=h; mRrjiqfLrdkvksa esa gh l=h; iz’ui= gy djuk vfuok;Z gSA 

03- l=h; dk;Z mRrjiqfLrdk ds izFke i`"B dks lko/kkuhiwoZd iwjk Hkjsa vkSj mlesa mlh fo"k; dk iz’ui= gy djsa tks mRrjiqfLrdk ds izFke 

i`"B ij vafdr fd;k gSA 

04- l=h; dk;Z mRrjiqfLrdk vius v/;;u dsUnz ij tek dj mldh ikorh vo’; izkIr djsaA 

 

नोट:  प्रश्न संख्या 1 से प्रश्न संख्या 5 तक के प्रश्न दीर्घउत्तरीय हैं।प्रते्यक प्रश्न 04 अंक का है। 

Note:  Question No. 1 to Question No. 5 are long answer type questions. Each question carries 04 marks. 
 

Ľ.1  ª¥Ĕkz  ª¢a©¥ h«¢t fĶ a¶ Ur©¦|o ¥ª¦p ¥zi©S[Ê 

 Explain the system development life cycle with example. 

Ľ.  z·h­r© rĔp©¢²hƊ a² rĔp©¢²h«a|o a© Uţ²Ē{ ñ{© ¦³? Uv{¬Ň Ur©¦|o Ū©|© ĔvŴ aĪªh[Ê 

 What is the purpose of documenting the existing documents? Explain by suitable example.  

Ľ.3  z¬ªļp RUkv¬k a² ª~[ ªr£©ªtrã£ ª~bâÊ 

 Write the guidelines for printed output. 

Ľ.4  ª¥Ĕkz k²Ĕk a² Ľa©| aĪ đ{©ò{© a|âÊ 

 Explain the type of system tests. 

Ľ.5  ¥©ćk¢²{| Qt¬|ïo pq© S¥a² Ľa©|Ɗ aĪ đ{©ò{© aĪªh[Ê 

 Explain software maintenance and its types. 

 

ÑɨÈ:  ŢĤÑ Þɰć×ɟ 6 Þɭ ŢĤÑ Þɰć×ɟ 10 Í¾ ¾ɭ ŢĤÑ ÙÁȓ}ǡØɡ× Ţ¾ɟØ ¾ɭ ßʅ]Ţĕ×ɭ¾ ŢĤÑ 02 yɰ¾ ¾ɟ ßɮ] 
Note:  Questions from Question No. 6 to Question No. 10 are short answer type. Each question carries 02 marks. 

 

Ľ.6  Ĕv©S|~ z´m~ a¶ vģ|y©ª¤p a|âÊ 

 Define spiral model. 

Ľ.7  ~©cp/~©y ª¢Ų²¤o ñ{© ¦³? 

 What is cost/benefit analysis? 

Ľ.8  Stv¬k ¥Ā{©vt ¥² Rv ñ{© ¥zip² ¦å ? 

 What do you mean by input validation? 

Ľ.9  Ä©S~ ¥Oclt ¥² Rv ñ{© ¥zip² ¦å ? 

 What do you mean by file organization? 

Ľ.10  ªt{OĻo Uv©{Ɗ a© ñ{© Qqè ¦³? 

 What is the meaning of control measures? 

 
 


